COP3530 Recitation Exercises 1/28/03

*1) Given the 2-4 tree drawn below, perform the following operations, showing the resulting 2-4 tree after each one.
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a) insert(31)


b) insert(16)


c) delete(27)


d) delete(3)


e) delete(8)

2) (C-3.14) Let T and U be (2,4) trees storing n and m items, respectively, such that all the items in T have keys less than the keys of all the items in U. Describe an O(log n + log m) time algorithm for joining T and U into a single tree that stores all the items in T and U (destroying the old versions of T and U).

*: A group should go to the board showing their answer to this question before the end of class.

